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I 2 mwn: consequences of errant M7
a  If: he said X"n91 on fruit of the tree — R’
i Asper: "1 1 who holds that the main anchor of the tree is the ground (in re: 01322 ®7pn when the tree
is cut down or the water source has dried up)
b But if: he said ”n91 on fruit of the ground — xr¥» 85
i Note: this is obvious — but is needed for nT "1’s approach, that wheat is considered a tree
1 Source: his opinion as to the identity of nyTn yy (multiple approaches — vv. 1-2)
2 Therefore: R"10 that according to »™, wheat is "naa — 5"np that is isn’t
(a) Explanation: y"naa is only said for fruit that, when picked, leaves the branch intact and it
produces more fruit the next year; if not, the 1371 is ®”naa
¢ And if he said 11272 N1 Y2nW on any of them — ry
i N17 77 except P na
ii 27’7 even P no
1 Suggestion: their dispute parallels oV *3/n™ (X110 *2:901 73; 1INV "7::0™) Te:
(a) If: he saw 1/na and blessed God who made beautiful bread/wine in his own words
i) prRY
(if) »”r anyone who deviates from m>72 yavn is not rxvy
1. Rejection: ®11n "7’s position even works for n” — at least he mentioned na
2. And: anv 'v’s position may jibe with "1 — at least he said a proper n372 (yavn)
iii ~ Story: ®y1 P11 said his own Aramaic form after eating bread (xn>a »RnT 70 712)
1 arrw
(a) Challenge: 11 ruled that a 372 without onw nw isn’t a nxa
(i) Answer: he said Rinm
(if) Challenge: he needs to say 3 m272
1. Answer: he was rxv the first
2. Challenge: this isn’t teaching anything new — R:t 1010 rules that prmn nova is said P 532
a. Answer: R™0 it must be a direct translation — %"np that it doesn’t
2 Revisiting 27's ruling about 111372. requirement of 'n ow — based on v. 3
(a) Dissent: 130y "1 requires also mabn — based on alternate read of v. 3
I’ mwn: 550w no7a
a  For anything: that does not grow from the ground — 50w
i Even: vinegar, fallen (spoiled) fruits and locusts — 930w
1  Dissent: n'm» 1 — if it is associated with a curse — no naa
b »r77z includes meat, fish, dairy, eggs, food gone bad, salt, brine, morils or mushrooms — 20w
i Challenge: don’t mushrooms etc. grow from the earth?
1 Proof: Xmva — if someone takes a 971 from all ypap *91713, it includes them
(a) Answer: they grow on the ground, but don’t get their nutrition from the ground
(i) Challenge: our Xn»11 mentioned YIRN 10 Y3 PRY 127
(ii) Response: should read: ypapn 1n pavn 92
¢ Definition of mban (dispute Xp>R "1/R71 ")
i Omne: Sun-baked fruit
ii ~ Other: Dates blown down by the wind
1 Analysis: calling mban a “cursed fruit” only fits #1
(a) Defense:n55p 1n may refer to others (pmin etc.)
2 Alternative analysis: making 930w on “wind-blown dates” is difficult — should be y”naa
(a) answer: all agree that m»11 means “sun-baked fruit”; dispute is about NN M>21 in R:R *RNT
(i) note: why would wind-blown dates be n1wyna 1n — they are 1pan
(if) answer: if he made them into a 177 as per »"ar7’s ruling
3 challenge: if nann MmYan means “sun-baked”, why not use consistent term in m>71 and "RnT? XV
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